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Answers

1. 135

2. 971

3. 55

4. 71

5. 889

6. 97

7. 237

8. 898

9. 883

10. 977

11. 322

12. 991

13. 364

14. 243

15. 803

16. 512

17. 12

18. 11

19. 188

20. 511

Find the value of the variable.

1) 709 - 574 = B B = 135

2) C = 917 + 54 C = 971

3) 550 - E = 495 E = 55

4) 791 + F = 862 F = 71

5) G = 88 + 801 G = 889

6) 583 + H = 680 H = 97

7) J + 662 = 899 J = 237

8) 822 + 76 = K K = 898

9) 314 = L - 569 L = 883

10) 971 + 6 = M M = 977

11) 115 = N - 207 N = 322

12) P - 843 = 148 P = 991

13) 291 = 655 - Q Q = 364

14) 508 = 751 - R R = 243

15) S - 683 = 120 S = 803

16) T + 84 = 596 T = 512

17) 519 = 507 + U U = 12

18) 995 = V + 984 V = 11

19) W = 848 - 660 W = 188

20) Y = 551 - 40 Y = 511
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Modified

Find the value of the variable.

889 55 71 971

977 322 883 237

97 991 898 135

1) 709 - 574 = B B = 135

2) C = 917 + 54 C = 971

3) 550 - E = 495 E = 55

4) 791 + F = 862 F = 71

5) G = 88 + 801 G = 889

6) 583 + H = 680 H = 97

7) J + 662 = 899 J = 237

8) 822 + 76 = K K = 898

9) 314 = L - 569 L = 883

10) 971 + 6 = M M = 977

11) 115 = N - 207 N = 322

12) P - 843 = 148 P = 991

Answers

1. 135

2. 971

3. 55

4. 71

5. 889

6. 97

7. 237

8. 898

9. 883

10. 977

11. 322

12. 991

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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